AUTO ELECTRIC GUN  ,gusersrestrictedto |

ERAFRARI8EIU L

SEMI&EFULL AUTOMATIC GNU

 CM.031B

Always read through this manual before operation.
TIREZKE EIXEEHIEB

xﬁ' 1BS U LERARER | 185 M LERA SAARTABILBRER
Only for 18 years

of age orolder | Operation of this air gun for competition use is restricted to users of 18years of age or older,

(v’:ff' FEBRG M ABB 3 Bk E|50-60 %, TP ERATRSHREZTRGUELEHE.
Injury caution | §ince plastic BB bullets reach soto 60 meters, careless shooting may cause eye damage or other injuries.

Handling cautions | Always read through this HANDLING CAUTION AND INSTRUCTION MAMUAL carefully before operation.

and

EBRREESETITH | EREZHERCERESTRINETTFHEESINLFINREEEET
.. Instruction manual | Operate the air gun with full recognition of warnings and cautions.




HANDLING CAUTIONS AND INSTRUCTION MANUAL

FRAEAAE Z A 7 1T 4 B 35 424 5

This sport gun is developed for enjoying sport shooting through correct sport shooting operation. You can experience unique
feel of the air gun, which is a most suitable sport goods to improve your shooting sense, if you recognize its features and
operational warnings. As the air gun has the capacity to shoot BB bullets by 50to60 meters, careless shooting and wrong
operation are dangerous, causing eye damage or other injury. Make sure to read through warnings stipulated below and

observe rules and manners for pleasant sport shooting.

SE e il B E ARG IE AT RARME, BEBHEEINARLZHE Y, R EEETHT 25508 ufo3ikrd
ffrﬁ AR AT, ZAEAGRSEHERIZA :.r.?ian_mtm W T 3% f.E L 9514 BB 7R 41 150260
A, 115]ﬂrt?ﬁflwﬂfth—%%*ﬁ-ﬂiﬁziﬁﬁxﬂk’%?)‘E:maJ, 7| AR T HERXRELTCEHEEH LK, FHEFRKAFINREFT—BTLFP
WA ELFRFEFHIEE, DUETIHREETERE,

Opefation of this air gun for competition use is restricted to users of 18 years of ages or older,
careless shooting and wrong operation may I:Je dangerﬂus and damage eyes or other part.

AR A TR, RBRT1I8HRM B, &3 T LR pR Lty ez

WARNING Always wear goggles WAENING Never shoot at any hquman or animal.
BE HET, FHARAFREEARE, TE Ak AR AR $h4

VD N
%\“\?}\

) & .{ﬁ"
— |y - ]
> W "!’l’ mill
NZR, J
When shooting the air gun for a targat or gk“
participants must wear goggles or other g

also paying attention to ricochets. (Pay's ient
also to third personnel other than partici .‘_" )

F AR R 9 B AR SR RS, 1 o T R
BARBRSX L CRRERE, RFRETTHagFok
7o (M BR4F 52 F RAgA @ik A Ashey =4, )

Wor shoot a personor animal as the target. Always
Shralective plug to the muzzle, except when you
Shoot a target.

ﬂﬁhﬁﬂﬁ%

\: = RN R

WAI?ENING You may be punished if you are shooting WARNING Never look into the gun muzzle.
5= for a practical joke. 4 £ F 5, B8 H 2 F it EL S Mk AN O
£, THE T EIN, Do not look directly into

x the muzzle to avoid accidental

You may be punished if discharge of BB.

you damage public or
i personal properties or
iInjure a person or animal
even if you are shooting
o for a practical joke.
/ '

T2 HiENEFIED, #P
BB## % oh 41 %,

Always observe manners
and enjoy healthy sport
shooting.

e RIFME LN RAALN A, S HFHE AT,

B4 15 & G AT AT B B Bk, 1R &R B, #F45
%ﬁ%ﬂﬁ,%aﬁﬁﬁ&ﬁﬁﬁ%ﬁg

B Make sure to operate an air gun after recognizing its features.
B We are not responsible for any accidents, events, injuries or repair costs arising from wrong operation and handling or

by modification and disassembly of the gun.
Wy ET LA EZ B BIRA LR,
BT AT AR R AR AN R I AR BT, REAFH, THIEEPA, KMBTAA T

=




Always read through this manual before operation.

WARNING Always direct the muzzle towards a safe WARNING Never shoot the air gun at places where people
. directionsf 4 #4440 R 22055 @), a4 and cars pass cross.
Never direct the muzzle B AR A AR B T 42
towards a person, animal g .
or other dangerous 2 49307 % RAE
directions.

except when you are

&
ready to shoot a target. A

Select a safe place for
operating the air gun,
avoiding places where

people and cars pass cross.

/

_ XECARIF . EF— BT HERIE, BELEFARELTLS
3 1 6 A4 2 41 9 B AR 9 7 A 4
WABNING Always put the gun in a case or bag when WARNING  Store the air gun at places out of reach by
i you are carrying it. | i 4 children. J& f8 AL ESLE 95 R 3| gk,
wARE AL, Hiee

Remove the battery and
store the airgunin a case
or bag and at a place out of
reach by children so that
they will not be injured
during mischievous play.

HEETESOE,
When you carry the air
gun, set the selector lever
to the safety position and
putitin a case orbag.

, 7 2 - .« 4 RSN |
%@ﬁﬁ%gﬂ@ﬁ,gm&&ﬁﬁﬁ& .,-f B T A AR, BT, BlAEKESR
REFILCHEETERNC L, 4 E i | o %’{ RBAREC HAEREG LR T, VA RI% T4

.f N R
[ /e A
WARNING BB bullets may be s Fﬁ 0 ING Always set the selector lever to the safety
B magazine is remoyveq N w poSitiom pigdse A AT E B T ER A2 8,
PP 3R F 5 19 2. T AU %

The

. bul | safety position.

/ x =.h 1 : g NS ———@rRemove the magazine.

trigger carelessly is ' @ Remove the battery from
extremely dangerous. Q the air gun.
After removal of the
magazine, direct the sl

muzzle towards a safe
direction and pull the tri t firm that no bullet ' o e B g T =
sl pull the trigger to confirm that no bullets remain DREEFE T EEAEE,
i#EﬁTiiirﬁﬁ%ﬁﬂ%ﬁ%%ﬁﬁﬁﬁﬁiﬁ ORTHE.
e REFTHEZBLLERLY, ERERELS, Hip @ R EE I T,
O H A4 F 6, de BRI A B A R TR ¢ )

| () Set the selector lever to the

JUhd

,._
i

<k

-
i
L]

WARNING Release put away your fingers from the WARNING Never disassemble or modify the air gun.
L5 trigger, except when you are ready to 2
shoot a target.

This air gun is manufactured
under consideration of
appropriate performance
and operability.
Disassembling or modifying
the gun may generate
danger or adversely affect
the performance. So, avoid
dissembling or modifying
the air gun.

fe T AR B W4T AT % B 4251, R BdeiRay Fi50 348 b
Never put your fingers
O x onto the trigger except
when you are shooting a
target. Maintaining your
fingers on the trigger may
cause sudden discharge

for some reasons, whichis |
dangerous.

MR EH SRR, 2R LRI IR A T, A ARG F ey A IRAE M Bl ah, B RBCE R
— B F ISR T e T B E AT &M, BT e A RO A R, B bR B R AFIE NP
AR Sy

D.



Read through this manual before

shooting paying special attention ® THOROUGHLY UNDERSTAND THE WARNINGS AND CAUTIONS

P SAlL OPRoklon. FOR SAFE OPERATION.
FEAR AT, e b R E, Wik B el L i : )
R e s FmM M E P2 ERE, ARLDOEARLS,

FaRIEAAS,
T%EE Always observe warnings and cautions strictly.
= Failing to do so may cause injury ,accidents, or damage to the gun.

CAUTION TR Ry i i i 8% Y 2 P
20 RESTEE VeSS By

Eherging the Bettery [Battery and charger sold separately.)
ThATH( T ATEFERHLE) = ™

Use the specified
® Usethe epeenfned battery for the gun. 8.4V.1200mAh Hyper S b?’ﬁ‘f‘;?a b
Command Mini Battery Hyper Command Mini Battery

Avoid use of non-standard or other brand name batteries. @P @p

Otherwise, the originally d df t 1] t be obt d.
g y designed functions will not be obtaine ® 5.4V Ni-cd Battery Pack

R LR Tik, 8.4, I?ﬂﬂlﬁe?wlw T ik, Hyper Command 8.4V R4 F i
i REREFES L SR TR, TMFERERHEL, :
o \Iie\'8 The SD and Mini Battery can not be used. ; _ =2
INRER W T i i FIS DA/ R B A i &
@® Exclusive Charge for Ni-cd
@ Use the specified battery charger which is applicable to the Battery Pack.
above battery. The charger Excusive Type ac Speed Charger. - M-mT RN ATS )
R ELEATEERAEE,
® The battery’ s capacity power is increased with use of the @ Discharge the battery completely before charging it for the first time
Ni- ed[hettery] Discharger(Sold separately) and the charging time is 12 hours.
£ ANi-cd T LT B X oTibahieT,. (HFRGHE) @ Battery charging time is about 8 hours, do not extra to avoid the
[ over-charge.

Use the correct battery and charge according to respective
instruction manuals .We will not be held ible for any
accidents or damage caused by wrongful P or e
usage of non-specified batteries. )

AR A 1R B F M4 R A L ey b Fo T
TRIFAFER E LR T b3 A J*-'J
4T 15,

The temperature can'tover 45°during ehergmg or will damage to the

A ;g"q‘h LA e T A, AT B2 05,
E S 052G, TR AAHE RN, MEAZELT.
ﬁu,eﬁ' Ok R IFALRASE, T MR T ik,

ey

:iﬁ"it"'l:h E:

THE NAME OF THE PARTS [
LR AR (LAY At

Selector lever
Gunstock lﬁtf% 52 45 -ﬁr] H o

2t sight (upper and lower)
2 £ T )

Upper wood

e 3 A
\ WD
A\ | o=F
) \
Gri Underside wood Decoration DiInhoeE
ot T A % 5 1 i B
Magazine
safety Magazine
% [ 4% \ ~#E
Gunbody cover
Front sight Side track L Button on the gun
031B Silencer LR X : mf" / &SR Gun stock cover
H i B et e N ik 2
- .. | e . ““::___;______.;__ D j——— S Hh._ln __.‘_‘_,
T - Jh. ‘T___' Y =
| fE.ENEh 2
Front Sling Hook | =
= P D ATH A4 ' Trigger
Cleaning rod 77 ¥ & 35 A Rear Sling Hook

B4
Front Sight Adjustment Tool Trigger guard

S A T A %;M B REE




Selector

#EFEMTL2RE

lever and EEfEtg setting EfUTIDN Set the selector lever correctly in position; otherwise, malfunction may occur.
%

AR M ATR B EBRE, TG AR,

@) Safety setting (the trigger
' cannot be pulled.)

AR T (RAEZTIRE)
When you are not firing the
gun or during storage

always set the selector to
the safe position.

AR TR A R T #,
R FEEI 2 E,

— ufi
Cad—

AT

@ To prevent malfunction of
the switch do not change

A 5 the selector lever from
semi to full auto while pulling the trigger.

By Fr b B 0L AR AR, AR, 72
| AT F AT @ B 2 f #,

WARNING
kb

@ Fully automatic

(automatic firing)

8% (%)

The gun will fire
automatically while the
trigger remains pulled.

TR, AT A BRE,

H Setting the Battery (Set the battery after charging)
ZRE R AT Eded b i)

Battery
% ik %

A

#E'F
BTHHdER,

Press down the fuse
box and insert
connectors

and cords between the
fuse box and battery.
Bend cords inthe S
shape
BNRE#®E, KB
EREGEEFTiZ
fa] 3 A3 3 35 Ao 8,
AF % &S i ASH .

G - s =
7 F\ e A
. i 7 me

/ Battery connection

E} Semi automatic
FhH#
The gun will fire one shot each
time the trigger is pulled.

FE—RIRE, A
BT

Insert the battery in the
tail gunstock and connect
the jack.

A5 E b E AR 26

2k Lig ke,

eWhen the battery
and cords are set
in positions,
reinstall the butt
plate as shown.

TR TEE
EEFE, B R
TEHK LER,




B SETTING THE MAGAZINE

o E g — CAUTION
ER TP e ® 3 &

@® Always use the BB Bullets
for the air gun. We shall
not be held responsible
for any damage or

\ accidents arising from
, the use of bullets
:rr':sa;rt i:‘imm BB bullets into supplied by other
RANECEN manufacturers.
(500 bullets can be loaded) Replace the magazine cover. i3 4 FL8 R sk4E ) BB
g4 = guw LR AL SN
Open the cover of the magazine = im;;%'ﬁ EYREZR. B, e RiEALLER
ITHRE £ . f e PR 160 F H w7l Ao hy
(T = AS500% BB ) 35 & s & APE T
@ Move the gear with hand clockwise AE i, HAMEF
until it is fully wound, and the bullets i £ 47 F 1.
will be sent up automatically. © Setthem .
agazine upward,
(It can send about 150 rounds : :
automatically Install the magazine as illustration. r N

VANARE $t 7 ep ik $h T 4%, EH
B Lsk, TG
Fi%, (A & $hik FE 291504

WEFHERFR,

TUEFRARTFTIRXERE .

2. Press to the rear.

Magazine stopper relief rib.
FEHFE LRI n,

) O O

&

Slide the rib in the arrow
direction to remove
remaining BB bullets. (Be
careful since BB bullets
may jump out,)

O O @®

ie) J5 3% L AF Za 2 =
CAUTION #7050 A @ A $hak s B
A i e — H#EBBT#, () wBB#
) 3. Press lever toy r A% fr ik ol
The magazine is capable of to lock.l o+ . 4 : 9 Lﬂ-ﬂ wikd) )
Containing 500 rounds. 4735 4 ‘ .
e : ] 48, 4 BE
7T R 5005-BB#E . '
- —
0 A @ Insert the front sight adjustment tool in the
6 HEA;HﬁELEE]T ﬂH?JUETMENTE ( L ® | : i htis a front sight and turn it for adjustment.
J5 g 5 35 A sR ip ta INSadjusted | - RRTIEEIE T GG RE Y, REH®
Rear sight : VEN Y] - vk 1% 70 B
g i 52 ?Iﬂht \ u.a‘;, B,
Long distance " o5 5T
ik JE 4

\
e

{

Short distance
it JE &

Elevation (up/down])
adjustment button

WA (L/F) iRdiEsm

Press the adjust button and
slide it forward or backward
to move the sight up or down.
The larger the number, the
longer the distance to the
target.

ETiELEafiTada s F
Fhvh IE AL 5, AR,
JEAR B s ARt

_ erclockwise: Clockwise:

ower sight point ‘ higher sight point
waazh: @) wwnre

Sl i 3 TR

GauTION Ug

Be careful so as not to loose the adjustment tool.
EERERRAELR,

Variable hop-up adjustment lever
T LA Bk FhEH AL

INSTALLATION OF THE ELIMINATE BLAZE IMPLEME

. Ry B O£l - -
i kS gs 1 A R

While pressing the
lock button.

33T &2 e

The eliminate blaze implement is fixed by
counterclockwise as in the case of real gun.

BB Eah,

Remove by turning the Eliminate blaze implement.

B 4% H G B




CAUTION
A 5

@ There are possible cases
that no firing occurs after
pulling the trigger in the
semi-atuo mode. In this
case, do not pull the
trigger furiously. Fire 5 to
6 shots in the full auto
mode and then return to
the semi auto operation.
EFABNKET, HT
FeiR iz iR B, TF
AR ER, BN
M, REEI bR,
EA gyt T, 445
Blod, MEBHHEAH
AR L T § e

@® Smell may be generated
from motor for a while
when a new air gun is
operated. thisis the
normal operation of the
gun.

Bl ] 45 1& B 37 85 0% 4%,

T He A —RMekili, 1E0%

ofk i St T HLAE S g E 2 40,

A LETEELE,
@ The hopping up operation

may be unstable for 200

to 300 rounds after using

silicone oil, this is the
normal operation of the gun,

TR MFbZ )5, Wis
W200F)3008 T f& 1~ A 8
£, ARG ALE TR

%o

El Firing (Confirm your shooting area is safe before beginning firing.)

B & (AT ST, SRS M F & a0

CAUTIONS ON MOTOR AND BATTRY

o i R L )3 [P

Charge the battery if the firing cycle

becomes slow.
SHBEEENR, HAE.

Give the air gun a rest for 5 to 10 minutes
after firing about 500 rounds, in order to

@ Set the selector lever to Semi or Full Auto.

Jedz & 4

ensure long service lives of the motor and

hattery.

o T AERE B ok bh F 6,
¥ 5, &

WHEN BULLETS ARE CLOGGED

F5-104-4% 69 M) 8k

44500

o g mE o
R i S

=

C
A %

HEOMEFEE L8

@ Pullthe trigger.
FRAZARAY

AUTION B hlankfir‘ing may occur ar triggering after the
magazine, this is the normal operation of the gun.
wAERR ETR MBS HEE, TR Ta
A9 AT 8, 1R BT e EF eI L.

@ If bullets are clogged ,remove them and apply a few drops of silicone oil in to the chamber
from the magazine entrances shown or spray silicone oil for 0.5 or 1 sec, to obtain smooth continuous.

it FHRME, LFHRIRER, BT U SRASHE, FRFBFEON OB EEEE L3I0 E %5050,

AFTER OPERATION

& Fl = /5

@ Remove the magazine and dry fire the gun in the semi auto mode directing the
muzzle to a safe direction. (Otherwise the spring may be weakened). Set the
selector to the Safe position.

THRERE, AFAMOEAT, if SAfcboineists,
S HETRTES) , REFBRIEL (safe) & —i,

(T, #

Eul!ets may remain in the chamber even if the magazine contains no bullets
[orif the magazine is not connected) (Two or three bullets may drop from the
magazine, this is the normal opweator of the gun.)

PPk ¢ 2 24 AT T 7.
Always discanne
not operate

i 1R A A
Alway attach t

r.'

-.'r

Bl TROUBLE CLINIC(TROUBLE SHOQ
BB HERATRE

i

M
e

sl

CF

SYMPTOM #z 4%

CAUSE

A

€
Y
=

7 it

== $5(Safety)

Select or is set to safety.
TR Bl i

\Ex:t &2 ;é rlever tg..

l

Mo operation at all
Y 3

Battery is not charged.
Tk A AT

)

Battery connector is
disconnected.

T bl A4 F AR )

Connect the connector.
i dab ie B

(HFEEMIE E) TRALTHREGGAENE,
e hattery and a_t,h‘_e protective cap whenever you do

Fguality BB bullets will cause problems. Never disassemble
he gun.

AUBBFRAT AL A, FRAFFRATIGE £ .

ACTION #i&

Charge the battery.
N ey

Charge the battery.
b i T

The@® and=) or battery
connectoris revers.

Rike)E f feib jE BT

Connect the connector correctly.
[check the fuse]

IE Sk 42k 42 8 (i & (Rpk &)

Wil S B

Fuse is blown out.

Relace the fuse .[See page 8]
Tarde Lk s (NBH)

£ 4.

Expired motor life (S0.000
to 60.000 rounds) or poor
electrical connection.
S0,0008160,000% 5%, 5§
ﬁa’&ﬁ?‘-‘ﬂ‘ﬁﬁﬁﬁ B, E &

Replace the motor [purchasing

from your dealer or us Jor check
and repair the contacts

ARG W HE (T &8 45 79 ALK I

i) AHiTamic iR TRi

&5 Yk
RS

Although motor
is removing,
bullets jump out.

BT A s

Bullets are clogged in
the magazine.

TRALEFSE

Insert the charging rod into the
magazine and move up and down
a few times to remove clogged
bullets.

AXFAGAFETE, LTFHH
ok, RAENTRESE.

Shooting distance
become shorter.

FEAEFE

Worn or damaged chamber
packing.
(ML R8T

Consult your dealer or us for
overhaul maintenance or
repair. Replace the chamber

Worn or damaged chamber
packing. [O-ring)

R (OFE) X EAHT

packing. piston packing [O-
ringland piston assembly.
W) &2 K W % I 4o 1T 2R 41 F 9 2

Deteriorated piston spring. | = & %44, &2 (0%
EEFENG H) foisEmPEH,

Faulty BB bullets.[Too small | Use the genuine BB bullet

or heavy) L

BbFE A 44 (A hdhg) |HATEEHNBEE

Faulty gear. Purchase the replacement gear
3k T from your dealer and repair.

5

1) &8 5 0 W T 4 0 o 8 S il IT L4

Gear problem caused by too
many blank firing or worn or
damaged gear.,

A3t EafELafadn
F) A5 o, O e A A AR

Consult your dealer or us for
overhaul maintenance ,part
replacement [(gear. etc) or
repair.

P, e F8 ks

chamber.

Bletts are clogged in the

TELLEGRRE

Remove clogged bullets using the
cleaning rob.
M H 4yl 3 Berm £6F F i

o

Too loud Gear problem caused by too
operating many blank firing.

noise. RN EH BN
REAL |MA

5] & AN T & T do PTHE i, i
ik Sy

Faulty gear.

- b % T
Ay rﬁ &

Purchase the replacement gear
from your dealer and repair.
48 41 70 35 O df &4 36 4% 5 3B §TE0 45

Impossible full-auto
e

Insufficient battery power.
operation. ik EERA

Charge the battery.

TR T -
o Ty

(Automatic firing)
T hE i A4

~fiE magazine.
(- 7 A i 4 )

Faulty bullet feed of

R ZTHRES

Repair clogging the magazine.
P ERCE O U

Bullets being
follen out from

Worn or damaged chamber
packing.
(A R EARRT

barrel end.
T A A SN TR

oL
[

No hop setting.
AL HHOP

Turn the hop adjustment lever
toward HOP.
AW i AWM FHOPE B

[Faulty BB bullets .(Too small)

BB & &4 (£4)

Use the genuine BB bullet
& W 515 49BBSE

Impossible semi-
auto operation.

Poor electrical connection.
&84 R

Consult your dealer or us for

overhaul maintenance or repair.
5] £8 4B T 5 G0 do §7 2 $5

[Singe shot)

TR iy SR

Deviation in gear timing.

Set tosemi auto firing 5 to 6

rounds in full auto.

Being wet or drop
into water.[rain)

o & IR A AR

Stop operation immediately, disconnect the battery ,wipe off
water from water from inside the main body and the battery,
and after complete dry, carry out trial firing, if no operation

or malfunction is detected, consult your dealer or us for repair.

S REEES, Tk, LTI N Lo sEF,

bl —gMisHeLsas s K2 (@) FIERDTTZE, HFEid, izt AidinieE,
g $pkE 167 58 4R T B 4 AP 5 3 o 4T H 4%
s

-6-




CAUTION
A i

@ If the hop-up is adjusted
excessively causing
clogging of bullets,
immediately stop
operating the gun. return
the lever to Normal, fire

2 or 3 shots and readjust,

i 4ohop-upi® 53k 37 &L T
fE g EH TR E, B
FliE SN A, ZA4FLE
Fl de 39 B AR 3 £ OE ¥ 44
(Normal)4E i F 4t 45238)3
e e K

@ Since a precision tight

barrel is used, use of
dirty bullets or those
with burrs causes
clogging of bullets and
possible fatal damage to
the mechanical box and
system.
HTEETHERFEHE, b
A& B MR T 3 T sk &
THTHRLEAHRLG
SEHE o

WARNING
A & E

® Never hold the gun side

ways as the BB bullets
will curve tight or left.
This is due to the HOP-UP
system,

F 2 Mg £ 4T
4, BEBBTFEH ko
ThEBAENFZ B,

G T
®

& VARIABLE HOP UP SYSTEM =T %4 ft.a9Hop Up % %

By producing a back-spin on the BB bullets, this system allows for straighter and longer distance shooting than

normal air gun. Unlike the fixed type, the variable hop up system permits one-touch adjustments using the dial and
lever, making it an ideal hop up system.

BRRTHRES, Tl RESIL—ANTENFEAATd, FRILLHEETHY N HIE—,
B BLT AR ) #8408 fo 3 85 AT RAE AT 90 4,
} Adjustment Procedure[Adjust by carry out trial firing ]

WP AL A (88 E A RAEITNEG)

g g
G

#\;"’

T # L adHop Up

@ Graduallj’ turn the adjustment dial towards Hop to give hop up to
bullets. [The best setting is where bullets fly horizontally.)

ARMERRE SRS, (REGZALATELRE
7 1a] 4t )

@ Turning excessively adversely affects the trajectory. So stop turning
the hop adjustment lever when bullets fly horizontally.

4 AR FTEORANBERTRESFEINFER, B, wRFHFEEBK

F 4, FRAFAE4n 4R 6 4,

@ The best position is where the bullets fly horizontally, and the longest flying distance is obtained.

REMEEIXTERKTFFOMNE, e F#FHEE 3 R HE,

Too much hop-up(return the lever towards NORMAL)
B L (MBI ESEE %O

Best position O O
A REACE
w ©

Not enough hop-up(return the lever towards NORMAL)]
LA R EM: (MRB I AR EFEE)

OPERATIONAL CAUTION

(strictly obserserve the fofiay

RIEEES G = AT

A

1 : to clog. Firing the gun with clogged bullets damages the

clogged bullets using the cleaning ‘- ';’}
o R F 7 R, SHETHE L, a5 ST ses £ T
® Make sure to nefuen the hop adjusth lever to the Normal position when removing clogged bullets or cleaning .

£ M K T F S0 i p 4 \j i ormal) (F AR 4 F 454

@ Never use used or dirty bullets. (Otherwise, the chamber becomes dirty, resulting in unstable hopping up.)
TEEMEATFTREMAANBMT R, (FHNEESEM, RmEHmRyFHD)

@ When about 10000 rounds are fired, spray silicone oil into the chamber for 0.5 to 1 dec. (See 11 on page8.
The hopping up operation may be unstable for 200 to 300 rounds after spraying the silicone oil, this is the
normal operation of the gun.]
8 X £91000042-F 8, Raid-iER0.5-187, ( fefadib B, 200-3004 5% ay ke R RiEE, 34
WALBTEFILR)

@ We will not be held responsible for any damage or accidents arising from wrongful operation, disassembly and
modification of the gun.Any costs for repair of such damage shall be paid by the user.

BT MR, TaRAARKAEAIARNIERAEN, AM—EFTTAE, HAL 0 ETRA SR P HTRE.

® Moving the lever too
piston and gears.

R N SRR ) & A

AT A48 8E EfodHa i,
n, return the hop lever to the Narmal position and remove

WHEM HOPPING UP IS IMPROPER

HEFE A~ B L8

SYMPTOM sz %

CAUSE /& 1A

ACTION = % SYMPTOM #z 5% CAUSE B ACTION 7 i

B ; ing. | Gradually return adjustment
bastpss | Tommsttonming | Srabettsmarn ache Dumaged adustmens | PUrchasethe replacere
et (hop) #H A X Jo 30 £ 4718 o 0 30 B E Bk A2 Cannot adjust lever or other parts. I v
‘?’;’Frﬂjrhﬂ et I 4 —t =l Tﬁt:ﬁ =i J.# -f,ﬁ';t{_, a IH-_-f"j PEP EI:E 1t'|
- 1E I8 2 1 it 29 & R Rk 1 . M .
e = A EATARRITRE | ouunmTages, ki
_ Too much hop setting. radually return adjustment hop 5 &
Short flying s lever towards Normal.
distance of (hop) A AKX SR I - di
bullets(less Ao 30 &7 A7 1R by 0l 38 3] AR B . Frequent Too much hop setting. radually return adjustment
h z - - : bullets ; lever towards Normal.
opping Hop packing ; Fire bullets equivalent to 4 or Lo {hop) L H AKX i, 00 65 47 10 i o, 38 B E A 0 A
up effect). contaminated by oil or | 5 magazines or clean the SREENS bttt taler st
T M A4 dirt. chamber using cleaning rod. Pt Tk Improper or too large Use the BB Bullets for
{ﬁ %Iﬁgﬁﬂﬁ ”D[?IE-%: .f_:;';:,-ﬂ]‘iij‘,:-:. o Pifig‘ﬁi{ﬁ) '.-lﬁ'ﬁj ﬁ.;l']- i';_? i{;ﬁ,}i sized BB bullets. Electric Gun.
: 3€ 3k 35 R e R e A e % g
7 R ) 61633 BB T4l 8 & X 7 i 4% {iBB#

Worn or damaged hop
packing.
Hop#, R A # #3904 1

Purchase the replacement
part at your dealer or from
Marui and replace it.

GE VTR o] SR A
Fithop # §

Clean using the cleaning rod
or consult your dealer for
repair.

MR MMHFREFEL LS4
40 B & IR AT

Dirty hop packing.
Hop & 3 M,




i MAINTENANCE /% &

1. Fuse Replacement Procedure.
TR &
The fuse box comes out
when the connectors are
pulled out of the stock.
TiRAE BRI IL T
Ay, eSS 4,

Fuse box (when fuse
is replaced, push into
the stock all the way.

R & &LE £ i
&5, Lk

v iiiigie 2]

Glass tube fuse &
You can buy it at a near-by
electric shop or gas station.

Rl AW L8 B4 JE 3,
TEETEE,

15A Fuse commaon for
electric gun series.

TR TE A AIS5A
1%k &

2 Remove the obstruct bullets #fF#p:i£F& Make sure to insert the cleaningrod @

i : AFTER returning the hop up | t
@ Insertthe cleaning rod into the bore. ing the hop up lever to

EAU_TID_N the Normal pnﬁiltinn, (Hop-OFF)
ST AGTHEEAFTES . = T MM LS HEB E 2T A5
CAUTION L~ R e
A T =
O

The ornamental can not be used for
cleaning the obstruct bullets.

MEAE LS MY RERTF T
A E TR, %

Be careful so that the angled part of the
cleaning rod faces down, and remove
clogged bullets.

HMENREYARSE T, FiFEE TH,

e —Y aa—

— 1]

B =

=t
=

Chamber packing [
THE

3. Maintenance When Bullet Speed Become

Vhid

Aﬁ;{

Cut the cotton to the size shown.
Adjust the length accordingly so that it
can be inserted smoothly into the barrel.

A% AR W R ho B BT 49 o)
il M R T, LE T A% R A
WIS TR,

CAUTION

S
i_E ,'_';

WA: X

~ @ Always carry out maintenance

Hold at the leading end af

AFTER returning the hop up

and insert the rod into t
while turning the rod.

O O AT M M eE, JRAEATATaY K%
e HANEL,

CAUTION
A i

lever to the Normal position.
(Hop-OFF)

@ Since the chamber is a precision
component, avoid use of used

Inserting the rod will be difficult ol DRI
if you hold rod at the end. ® EAfLAgiFiEmEYERE, 4
B R R RFEBO KL, AR EATHEAS R Lo
aHA T e AR B . @ o TR —1aHsEeg 364, Hi
RARK R B 49BBF .
Hop chamber packing
%‘i’iﬂtiﬁ‘;ﬂiﬁ‘ﬁ- C— (= -
C:_ny [& €) Drop afew drops of silicone oil or Teflon oil from the bullet entrance,
:En r i — insert BB bullets into the magazine and fire bullets equivalent to 1
= or 2 magazine.
= - LT . - ¥ vjz & B
Bullet entrance KTHROAEARBEND, EBBTHEEEFEE, ¥ 1024,
F @A T @ Tocomplete the cleaning. use the cleaning rod(with cotton)as

Apply a few drops of silicone or Teflon oil.
i R AR R B

shown below, to remove excess oil.

AL FBEE R THWASRE S 449MH 4,

Bemove the screw
from the grip bottom.

4. FINE ADJUSTMENT OF GEAR ENGAGEMENT
iy 4 5 2 6 Y L

Tl Only when the motor noise becomes high ElFAISER IS,
A = after operations for a long period of time, M
b i conduct the fine adjustment as shown. M3 hEﬁEQD"
wrenc

HEM e &, TR A 0GR EeF,
W e B Bl FHE A AT RN,
Hold the grip during adjustment.

Otherwise, the main body will drop since the
grip set screw is removed.

EREFF2ETIF, TN, THECESL
BlEdeFa9 8 il FAT Mg k4,

M3s<if M8 F

Insert M3 hexagon wrench into
the screw hole to adjust.

HMIF A FHAFLEILET ML,

S

CAUTION

.-' - _'IJ—
oS iy T ]
L

® Itis recommended to lock the adjustment

screw by a screw locking agent or

instantaneous adhesive after adjustment

of the motor position is complete.

@ Normally, do not attempt to adjust,

® Be careful as not to overly tighten the
screw as it will damage the gun.

@ HAGAEHAEEFNELKRE, M4
4T [B) 7 35 3L BF M) 4547 8] 5 38 4k 38 4 41

@ il WA rEEInEE,

@ 2 ¥ T E8EFEIMBETA BB RIS

-8-




€
T
QG
VN &7
ﬁm
E<
=
—t




ID? / /.-f 18 _F,'ﬁﬁ 119
p : 4 110
0 O 114
= 115 S 119
£ \ % 13\ -
= — L ) :
g - > 119
- — f}{iﬂf-d 71
= X N | o®
E _ o}-"119
112
IDE
CM.031(031B)
1.Flash hider i iaeE
1B. cm031b flash hider 031B jHiEss 16.Down gun guard TP
2.Screw (m3*6) M3*6E57T 17.0ut gun barrel ERE
3.Front barrel oL B TF 8k 18.0uter gun barrel located slice #BEER
4.5pring (¢0.4* $4.0 *17.5* 11T) [E&(p0.4*$p4.0*17.5*11T) 19.¢3 *10 PAHO $3*10PAHO
5.Frontguntip sl 20.Decoration ZEihE
5B.031b guntip 031B#psL 20B.031b decoration 031BZEiH%
6.M3 *5 HMHO M3*5 HMHO 21.Gun body cover R = o
7.Front sight BIES 22.Add weitght slice MNEEE
8.Shatft ¢ 2.5*16.5 Fihd2.5%16.5 23.Cocking lever hisE
9.Gun barrel W 24.5pring $0.45* $4.5*139* 54T FiFE(UEP0.45*¢p4.5%139*54T
10.Screw m3*3 M3*3§57 25.5pring located slice FiE=HagsspR it
11.Up gun guard cap 2=V N1 26.Hop up Hop uplB T ZIER
12.Hexangulariron slice s 27.Located slice EEEEGEBEMNR
13.Up gun guard HipA 28.Battery case Fa ith 2
14.Up gun guard back cap HipRE= 29.02.0 * 6.5 PAHO $2.0* 6.5 PAHO
15.Down gun guard front cap THARRIN 30.Gun body cover release LER=Rog 2531

-10-




31.Up gun guard located nail FRARIEAIET 76.Motor spring EBHESS
32.M3*5 kmHho M3*5 KMHO 77.Gun body F{k
33 Right gun sight RS 78.M3 * 14 KMHO M3*14 KMHO
34.Left gun sight T2k 79M3*12 KMHO M3*12 KMHO
35.M3* 20 PMHO M3*20 PMHO 80.Side rail &R,
36.63 *10 PAHO $3*10 PAHO 81.$30*75 TBHO inner hexagon 2mm  ¢3.0%7.5 TBHOPRIZ<&2mm
37.¢3*16 PBTHO ¢3*16 PBTHO 82.Gun grip Fig
38.M3 nut M 3R 83.M4 *5 TMHO M4*5 TMHO
39.42 *12 shaft $2*125¢3H 84.Riggerloop B
40.5pring( 0.5 * $3.35 *20* 20t)  FE#(d0.5*¢3.35*20%20T) 85.Rigger loop stator ImNBEEEER
41.Staff guage panel mR&H 86.Magazine safty IR
42 Staff guage R 87.Magazine release shaft SRS i
43 .Staff guage release spring A ¢k 20 88.Magazine relese spring BEINNE
44 Staff guage release bR e 89.43 *10 PBTHO ®3*10 PBTHO
45.Rear sight release spring REERES 90.Gun body connector e BEREE
(p0.4*¢3.9%8*71t) (00.4*43.9%8*7T) 91.M3*6 KMHO M3*6 KMHO

16.HOP-UP so 92.M4 * 10 KMHO M4*10 KMHO
47 Rubber selector BEREADE 93.Gun stock coverrelease wREENR
48 Selector T RiE A 94.Gun stock cover BEEs
49.Gun barrel connnect link BEER 95.M4 * 8 KMHO M4*8 KMHO
50.Block MFEL 96.Wire EEL
51 .Nail &1EET 97.Right gun stock Fatictae
52.Hop-up.selecorruber BB 98.Left gun stock Plictie
53.$2.3 * 8 PWAHO d=¢5.0 $2.3*8 PWAHO D=¢5.0 99.Rear gallus hook JEE T
54.$2.0 * 4 PWBHO d=5.0 $2.0*4 PWBHO D=65.0 100.Rear gallus hook cover EEHIRE
55.$2.0 *4 KBHO $2.0*4 KBHO 101.M3 * 8 KMHO M3*8 KMHO
56.Hop-up rubber it R 102.M3 nut M32e
57.Inner barrel sleeve = e 103.M4 nut F g EM4
58Innerbarrel e Y S U4.5haft B TE R
59.Fire selector FiEl P T £ ‘ 0> Magazine cover SEREINT
60.0uter fire selecor s 3] L ‘?-i“E rear cover EERE
61.M4 * 10 TMHO 10 TMHO 2215 shaft b2*21.57E4H
62.Fire selector ring 37 E £ l shaft $2*25. 574k

- 63.Fire selector coppy barrel y&L ) BRI JAt trajectory aiRiE
64.Located slice EEA, trajectory e
65.Main gear box 24 m = HETFL
66.Gear TR S8y  spring base RFEE+RF+REETR
67.Rigger block | ;I"E E.spring
68.Motor right cap FE &8 e g covergear —
69.Motor left cap EB4 = 7135]5&%
;?.ﬂztir shim Rl 115.Gear spring ERHE

: screw Ma*dgh .

o 116.Magaziine cover HEEE
;igﬂaﬁna zﬁii5 2*$3.1*1.0 %;;EM H5E; 3.1*1.0 e i TR
ool Ighih il Sl Kﬁnhqu ki 118.5pring( 0.4 * $3.9 7.5) S#3(90.4°03.917.5)
TE Mot = 119.¢2.6 * 10 PAHO $2.6*10 PAHO

120.Ballistic transition nail sEEITEE]

Mame

% # | CM-031 CM-031B
Overall length F & 950mm 850mm
Weiaht ' B 2800 inc!udir]g battery 3295 including battery
: S800% 14 il 3095% 4145 Hi it
Magazine capacity Z=538E% 500 rounds 500 % 500 rounds 500 &
Bullet F ¥ | BmmBBbullets 6mmBB # 6mmBB bullets 6mmBB il

Initial bullet speed #iEE

102 m/sec [0.2gbullet)
102 X/# (0.2g 73

102m/sec (0.2gbullet)
102 &/# (0.2g F#)

EA I E

Full auto

shooting speed 750~850% /41

750 to 850 rounds/min

750 to 850 rounds,/ min
750~850% /41




	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12

